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Note : (i)  Answer any five questions. 

 (ii)  All questions carry equal marks. 

  

1. (a) Describe primary and secondary lymphoid 

organs. 7 

(b) Enumerate different steps involved in the 

internalization of a pathogen. 7   

2. (a) Discuss alternate pathway mechanism of 

complement activation. 7 

(b) Write short notes on the following : 

3
1

2
× 2 = 7 

(i) Adjuvant  

(ii) Immunogen   
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3. (a) Define Antibody. Enlist effector functions 

mediated by antibodies. 2+5 

(b) Distinguish between the following : 

 3
1

2
× 2 = 7  

(i) Exogenous and Endogenous antigen 

(ii) Isotype and Allotype determinants 

4. (a) Explain Tonegawa and Hozumi experiment 

to prove Dreyer and Bennett’s model with 

suitable diagrams. 7 

(b) Describe the process of B-cell development. 

  

7 

5. (a) With the help of a suitable diagram, 

illustrate the structure of MHC class I and 

MHC class II molecules. 7 

(b) Compare positive and negative T-cell 

selection. 7 

6. (a) What are CD8+ cytotoxic cells ?  How do 

they carry out target cell apoptosis ? 7 

(b) Comment on any two of the following : 

3
1

2
× 2 = 7 

(i) NKT cells 

(ii) Self-tolerance 

(iii) Autograft 
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7. (a) Describe the steps of hyperacute rejection 

of kidney graft mediated by pre-existing 

recipient antibodies.  7  

(b) Explain Type-I or Type-II Hyper- 

sensitivity. 7 

8. Write notes on any two of the following : 7+7 

(a) Purified Macromolecules as vaccines 

(b) Systemic Lupus Erythematosus 

(c) Delayed-type Hypersensitivity. 
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2+5 
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CD8+ 

3
1

2
×2=7

(i) NKT 

(ii) 

(iii) 

I II
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